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1= Usze the fable-look-up method fo simulate random vana J.

Where the pad.fof Xis fix)F1A{1+x) X= E*U-'l firs

(Hini: see pupe 93)

2- Simulate the random veneble X with the following probabilities:
(Hime: xee page 93)

1 0 1 2 3 4 5 &

Pr[X<I] 02 ] 03 0.5 07 0.9 092 095

ki

rom & L1, 1) in the tollowing table: J5es

u 015 0.55 L35 0.65 075 .85 043
X ol 2| Z2 |2 | 4| 4| 6

3. The mixed congruential generator: x,, =5x, +3  (mod 4)
has full 4 cycle-length. With seed x, = 1, simulate § numbers, one after each,
a1 s 0 w2 3 w3 Lo {sr 0 sme 3 w7 Ei 15%

(Himi: See poge 61)

4- Simulate the normal distributed random variables (M1, N2) by using Polar-
Marsaplin method (rejection method) from each pair of the follewing uniform
distributed random variables: (Mint: See page Sil

(VI,VIE(-0.7,09) , (VIV2)=(-0.2,04), (V1,V2)=(-0.6,-0.8)

1 (N1 N2)= Ve je ched M|,N1:-{'J|-E,—D-?:|.ml.ﬂz}= (0,0)

% Simulste o Binomial random variable X with B(8.0.6) from a set of uniform
randiom variables 1 {0,1), by using Bernouli random variable, where:
UN=,1, UZ=08, U3=09, U4=0.2, Us=0.3, Us=0.7, UT=0.5, UB=04  [5%

(Hiri: S 82 WE _dim 3 - n
e e L il T )
8l o-r 44 2k 0.5 +p=ﬂ.t’- a8 o-q a
f-Simulaie random varnable X with peometric distribution and p=0.2 from L0, 1)=0.5

(Himi: See page 93 Egq. 5.4) 15%

7= Suppose that we have a set of uniform random variables: U={0.7, 0.4, 0.9, 0.5}
simulate the exponential p..f, random varables, Ei, by using: Ei = - log, 1.

%%

El- 036  E2-022 ,E3=0.| ,E4= O-F '

Then, from this set [Ei}, simulate a random number, K, with Poisson distribution,
(Himi: See powe §3) k=3 %

13%
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